jg [\
o 1A
> A

=

‘1)‘5«“

1<

@

y<a
a®l 2%

~J| o

a¥d o, x+y°] He o] W o
e (o ayZ h A7} xy ©] W etol] Z3H] 7]

®

SNIEN
=~ ot
N | o



A

2. o=

filo

AYPEA0R tehl 2 5

©9

rlo

o™ 4= x oA 9= i 11 B} &, x 9] 3 Hjo] 32 T 5HH
25 Hrp 242] ot

x—9<11 x—-9<11
® @)

3x+3>25 3x+3<25

x—9<11 x—9>11
® @

3x+3>25 3x+3<25

x+9<11

3x-3>25



17ta<x<bQdW, b-a

”®94*8

3x—-1<x+3
4—-x<5
shei?

—

Hlo
ol
T
B

g e 7

@1 3 2 @ 3 ® 4

@D o



2x—-11<5x+7

—_

A
ol

3x—-1)<4(2-x)+2

ShH?

?_

H, A+ B 9] &

k13
=

B2

B 2

@ 0



> w

IA



i
mlo

ra
L)

1

ol

>,
ftlo
M

ald

2x—-3<3x+1<5x-3



2x+ 7> 3x

BR=R=D3| =
ﬁlﬂ_]_o_l > a ’%E‘_é—ol—% _/]\_7}-37HO1[q1 aA%IA
W9k

v
m



o o
VIV
-~
+ +
==
N—_——r
©
o
\ —_
— o |
+ AV A
=R R R
N— N —
S ©@
[5e)
n o I
VI Al VA
= =R R
N —N——
© ®






10.

5-x<a+3
spe?
®a<5 @as5
@ a<-1 B a>-1

ol A 714 ), a o 7ol WAE T

@ a>-1



11.

SOk Al B a b BN < (@-P+b< 2T WS

oﬂ. 2a—b+c o Fe?

@D 10 @ 9 A 8 @ 7 ® 6



12. 3y = —x2 + ax — 29 A ZI} x=H o} A ofgjZof 9l

o]
W, A4 ] ghe] M9l

ftlo

O -2V2<a<2V2 @—¥ a<327\/§
—\/§<Cl<\/§ @—§<a<§
V2 V2
® -———<a<—

3 3



| = 2 o7 o A},
3 H—o*ﬁ]ax2+5x—|—b>0—e§°1/ﬂ <x<3O]E]-—1 H]-:rLHM‘:]'
. HRE s} L=

:] H],ab-’] H}:E 0_]': ﬂ

Eab =



A



1:]-

m°1‘ dlo

A 74 < x < 60] HES A5 a ] k9] W9
a

o
Fofl, o O] A X&) @& o ?
2 -6x+8>0

——

x?—(a+6)x+6a<0

D 4 ® 5 B 6 @ 7 B 8

|



16. 1 <x<3 A xof thgt o]APTAA x?2 —ax+4=0°] A= = F
AZS ZIE 2 5t A g o gl Y7t a <a < L W, 308 9

2t Fafol

Yk
=%



17.

m b

@ -3<a<T

@D a<3E=a>7



18.

AR A ol 600 A7} oF Fi kel Pt 93 P AL
3:5 9 HE Sojgleh ol7]o] whet p&a W FEL x AY
Holdgity, M}E}:IL/\L} w7} 220] 4ol H|7F 7 - 11 o] 2917,
F&L £ A5 650 /1S EATt o] o x o] ghe Fatolat

Qe
»



